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2.

At what temp rature will the rms spoed of
oxygen maleculeg become just sufficient tfor
«xcaping from the Earth’a atrmospbere ?

Given :

Mass of oxygen moleculo {m) = 276 x 1077 kg
Boltzmann's constant kp = 1-38 x 1023k

{1y 2-508x10* K

2) 5016x10°K

(3 B360x10* K

(41 1264x10*K

The volume (V) of munatomic gas varie? wit
ita temperature (T}, as showr in the grapn. Th
ratio of werk done by the gas, to the hes
absorbed by it, when it undengoes a change fror
state A to state B, is

v
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The efliciency of an 1deal heal engine wo .
between the freezing point and boigling pour
watep, is-

26-8%
2) 626%
3 20%
(4) 12-8%

The fund mental frequency in an open :
pipe i equal to the third harmonic of a ¢
organ pipe, If the length of the closed orgar

ix 20 gm, the length of tho open organ pipe i
‘9?)1,;2 crmn

(2] 125cm
13) Bcm
{4) 16 em
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A metallic rod unit
05 kg m™ i Iving horizontally on  smoeoth
inclined plan which mak an angle of 30° with
the horizontal. The rod is not allowed te slide
down hy flowing a current through it when a
magnetic feld of induction 0-25 T is  cling on it
in the vertical divection. The current flowing n
the rod to keop it stationary i3

(11 714 A

(2) 1476 A

3) 59 A

of moss per

length

MlvszA

An inductor 20 mH, a capacitor 100 uF and a
istor 50 Q are connected in series across
sourco of emf, ¥ = 10 sin 314 t. The power loss in
the circut ig

(1 OTW
2) 274W
(3 ¢WBW
@ 113w

« rrent sensitivily of n moving onil galvanometer

1 4 divwmA and its voltag zensitivity (angular

defl ction per unit voltage applied) is 20 div/V.

The resistance of the gal anemeter is

(H 400 v
2500

39 26Q

(4) 500Q

A thin diamagnetic rod is placed vertically
between Lhe poles of an electromagnet. When the
current in the electromagnet is switchad on, then
the diamnognetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitationol potential energy. The
required te do this comes from

wark

(1) the current source

{2) the lattice structur of the material of the
rod

(31 e ma netie field

th+ Induced electric
changlag magmetic field
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12t Iy =20 uA, I =5 mA, p= 250
(3 Ip=25uA, I-o5 mA, =200
(4) Iy =40pA, lo=5mA, p=125

fau 1 frg o 791 © qurER o TR Y w5 e A oft 0.

B 921 1 0 YEN o540 &A1 FT 554 &

Ao -
B

(1) A.B

(2) .B+4.B

A
3y A.B+A . B
(d) A

el pon s 2z @ Wi ¥R @ A H gfEdR

(1) *Faa g {frae) wade =) smfaa & = )
() poufs & vy s nofm i s &

(3)  FHaA w3 WA = a0

4} pnafasamm V- wfEam
|

iz wm

i1, ¢

In the circult slwown [t the figure, the input
voltage V, is 20 V, Vg = 0 and Vi = 0. The
vajues of 1y, I and § are given by
wy

-r‘"

an/ln=4{HLA. Io = I mA, fi =250

(21 Ig=20ua, [o=1mA, B=250 L
J =25 =om

13) Tu=25uA, Ig=8amA, B 200

(4 Iy 40pA [o-5mA, B 125 %4

In the combination ef the follewing gates the
nutput ¥ can be written in terms of inputs & and
B as

ae =
B e—v—uj—y

1 A.B

(2 A . R+A.R

J;)/A.'E+;L.B

{4} A+B

In a p-n_junction diode, change in temperature
due to heating

(R}
2
(3)

nﬁ'e:;—o:dy reverse registance
dees not affect resistance of p-n junction

affects only forward resistance

_()?/aiferts the overall V — [ ¢haracteristics of

pen junction
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14.

Unpolarised light is incident from air on a plane
surfuce of a material of refraciive index »’. At a
particular angle of incidence ‘1, it is found that
rcilected  and  refracted rays  are
perpendicelar te ench other. Which of the
following aptions is correct fer this situation ?

the

(1) Reflected light is polarised with its eleetric

vactor parallel io the plane of incidense

i Si.n’t(l )
[

Retlected light is polarised with its clectric
vector perpendicular to the plane of
incidence

¢
im tan~! L-l-}
i

In Young’s double slit experiment the separation
d between the slits is 2 mm. the wavelength A of
the light used is 5896 A and distance B between
the serpen and slits iz 100 em. Tt is found that the
angular width of the fringes ia 0-20°. Ty increase
the fringe angular width to 0-21° {with same A
anid D the separation betwisen the elits oeeds to
be clhunged to o
{1}
{2)

(2)

13}

(4}

18 mm

21 mm

3716 mm

{4) 17 mm

An astronomical refracting telescope will have
large angular magnifieation and high angular
resolution, when it has an ens of
{1} small focal length aml large diameter
(2}

large focal length and large diameter
Inq'ge foeal length and small diameter

(4} small f_ucu] length and small diameter
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18, F tﬁlﬁ?ﬁﬁ o € Wf?ﬁ“i o fimz 2 aft 18, For n radivacdive materlal, half-jife is

10 minutes. If initally there are 600 number of
Sow A A i T 6en Y, M 450 TR % nuclei, the timu t.alfen (in minutes]u?:»r rthe
faof@ 03 4 IR e T (e H) ?' disintegration of 450 nuclet i3
(1) 20 ¥y 20
2y 30 —_— 2y 30
2 10 @ 1
4 15 (4) 16
17. EEEEA A 1 P o Fan & M gdagis A 17. The Jrat:o of'iﬁno;l:honerhg.ir t;t;:m}:o:lnl cmv;xrgty of
an electrun in a r orbit of the hydrog=n atom,
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(i 1:1 (lr 1:1
(2 2:-1 @ 2:-1
3 1:-1 M -1
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18. fRl g & 78 = R 2 (T v T 18, When the light of frequency 2vy (where v ia
ymgf ) &1y NET F B, ot seutdy wEiat threshold frequency}, is incident on a metal
aftram 4 v, # | %9 e fafson & gty plate, the maximum velocity of electrons emitted
W Gvy R Q) IR R, o 3 9= A 3afhA is. ;. When the frequency of the incident
WA | i an vg BRN 2 1 v, 3N v, radja_tion is 'mcrcascd' to #y), the maximum
3 velocity of electronse emitted from the sume plate
g = is vy, The ratio of v; to vy is '
1) 1:2 _,uv/tl .9
{2) 4:1 {2 1
3 1:4 i3 1:4
(4 Z2:1
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An ohject iz placed at a distance of 40 ¢m frem a
concave _ﬂ;r‘nr of focal length 15 cm. If the object
is dizsplaced thraugh a distance of 20 cm towards
the mirror, the Eiispiammunt of the image will be
(1) 30 ¢ away from the mirrer Ly _\.,-_\.
(2) 30 gmtowards the mirer Y % T, 1®

6 ¢on away from the mirroi:'\ 3 - .}._
(4] 36 em towards the mirror ' %&9

‘The refractive index of the material of a prism is
¥2 and the angle of the prism is 30°. One of the
twe refracting surfaces of the prism is made a
mirror inwards, by silver roating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface} if its angle of incidence
an the prism is

iy 60

3 30

{3) 45°

(4) 2ero

An e wave is propegating in a medium with a
wvelocity Tﬁ; = V? . The inztantaneovs oscillating
electric Geld of this em wave is along +y axis.
Then the direction of oscillating magnetic fiald of
the gan wave will be along
(1) - zdirection
(2} - y direction

J&/ + z direction

4) —xdircction

The magnetic polential energy stored in a certain
indoctor i 25 mdJ, when the current in the

" inductor is 60 mA. This inducter is of inductaneg, ..,

1) 0138H
{2) 1-389H
(1) 13888 H

' 13809 H
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A battery consists of a varisble number 'm’ of

- identical cella (having intermal resistance v

each' which are connected in senies. The
teraminale of the battery are shortcircutted and
the current I is measured. Which of the graphs
shows the correct relationship hetween Tand n ?

0 —

A set 0 ‘n' equal resigtors, of value ‘K’ each, are
connected in peries W o battery of emf ‘E’ and
internal resistance ‘R'. The current drawn is L.

Now, the ‘n’ resistors are connocted in parallel to
the same battery. Then the current drawn from

j,u}r; becomes 10 1. The value of 'n’is
(10

®n  |or )
@ 1 QE:*'L}
4) 9 L

3. wittrariinggesigor ¢fiffddnd 7)dsfddvslo Harmarked

identification. The colour code sequence will be
tiglet = Yellow — Orange — Silver
’e_ll:_m' - Green — Violet — Gold

13} Yellow — Vielet — Orange — éilvor

(4) Green = Orange - Violot — Gold
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A tuning fork iz used to produce rusonance in a
glaes tube. The length of the air column in Lhis
tub2 can be adjusted by a variahle piston. At
mom tmperature of 27°C twn  successive
resonances are preduced at 20 cm and 73 cm of
tolumn length. If the frequency of the tuning fork
is 320 Hz, the v ludty of sound in air at 27°C is

(1t 330 nys
(2} 350 m/s
(3} 339 mike
14 300 mis

The electrogtatic furce between the metal plates
of an isclated parallel plate capacitor C having

tha and nres A, is
¥ independent of the distance between the

piates.

i2¢  proportiannl to the equar roat of the
distan: * between th  plates.

(3) lnearly proportional to the distance
between the plates,

(4) inversely propuvrtional to the distance

between thi plates.

24. An electron falls trom rest through a vertical

29.

distarwe h in a uniform and vertically upward
directed electric field E. The direction of electric
field iz now rev csed, keeping its magnitude the
same. A proton is allowed te fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fi Il of the proton is

(1) -maller
(2) 10 s greater
(3) 5 times greater

W %qud

A pendulum is bung from the roof of a
rufMiciently high building and - moving frecly o
and fro like a simple harmenic oscillator, The
accelerntion of the hob of the peidulum is
20 w/s® at a distance of 5 m from the mean
position. The time period of vscillation is

tly 2rs
t2) 8
' na
4) 1s
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Th power radiated by a biack bedy i P and it
radintes maximum cnergy at wavelength, Ay, If
the temperature of the hlack body i new
changed s Lthat it radiates maxinwm energy at
warvelength 3 Ag. the power radiatd b i
becumes oP. The volue of n s

1) =

256

Twa wirea made_of the same material and
hav thei.uamg _volga. The Tirst wire has
croes-:ectinnal area A and the =cond wire has

erogs-.  tinnal area 2A. If the longth of the firat

wire iz increamed by &4¢ on applying a force F,
how much force ig needed to stretch the  cond
by the 1o amount ?

T 9F
2y F
(3 6F
(40 F

A small sphere of radius ‘r' fally feom rest in &
visoe  liguid. As a result, heat is produced due

to viscous force. The rate of production of heat
Ehgn_thﬂ sphiere atlain. its terminal volocty, is

proportional to
w o
' 4

33. A sample of o1 g of water at 100°C and normal

presaure (1-013 10° N ®) rquirea 54 cal of
heat energy to converl to steam st 100°C. If the
volumy  of the stcam -produced in 167-1 ec, the

.\?: change io intornal envrgy uf th sample, is

o
2)
(3
(4)

104-3 4
42-24J
2087 4
84-5J
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fa @, 0, - 3) W R =@ F = 4} +5) _ 6k =
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A A A
(1) -8i-4j -7k ~
A A A
2 -17i-8j -4k j/
A A A 3
3 -4i-j -8k
A A A
(4 -17i -4j -8k

et o3 3 T it 7Y ] F =@ A 79 0-001 cm
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A
2
a
——0
C B
(1) a= g .
cosec O
(2) a=gcosB
- _8
3) a gy

Mégtanﬁ

aﬁéf@?ﬂmwﬁmmaﬁm q ? fedt whEmm
ﬁgﬁéﬁE %Wﬁ%ﬁﬂﬁ@?mmw
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HA FEH AT 0 6 m/s B @ & | I &0
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(1) 2m/s, 4m/s

(2) 1m/s, 3:5m/s

3) 1m/s, 3m/s
(4) 15m/s, 3m/s

E

35.

36.

37.

- A A A
The moment of the force, F =4i +5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -8i-4j -7k
A A A
2 -7i-8j -4k
a A A
3) -4i-j -8k
. A /§ A
4) -7i-4)-8k

A student measured the diameter of a small steel
ball using a screw gauge of least count

0-001 cm. The main scale reading is 5 mm and
280 of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0:004 cm, the correct
diameter of the ball is

(1) 0521cm
(2) 0-053 cm
(3) 0525cm
(4) 0-529 cm

A block of mass m is placed on a smooth ¢ 'ned
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6

for the block to remain stationary on the wedge
is

A
2
>a
0
C B
1) a=
(2) a=gcosH
- _8 ~;
(3) a= = & }
(40 a=gtan6

A toy car with charge q moves on a frictionless
horizontal plane surfac_e; under the influence oﬁ)a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 2m/s, 4m/s
(2) 1m/s, 3-5m/s
(3 1m/s, 3m/s
(4) 1-5m/fs, 3m/s
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Tt fam Tk A 9 LR
e fmm s & oI | IR wek I W
ATV 3 v . @ TR W (o) WA B

B LI

(2)y 0

4) 04

M g sgEn F9E b ¥ whnfes g

frm e R e T WS fvE, TR AR D
Muﬂgﬁ‘vmmmm 17 F=d 1wt

(1
3 D
5
4 ~-D
(4) i

A v, A (s 3@ W), B : (U6 wEE gER
oF41) a9 C : (v g egl), el wEs W
zETE M B R R, gom e 9@ o 8 sl
waffy st & oftr: wew o @ & | o faowEe §
A & faw fer oa 9@ s Wl (W) % T

FAa Faa ud &7
&/wi:wnf’wa

{21.' Wn}w&PWc

)] wA"wB"WC

(1) W, >WesWp

ffafa e w EV o X

1) &rfT wn of ofn 7 w5 5w 2 )

2) T smafers 1l A wET R |

3) Afax otv w1 Hm=x TR wfyam dfafEmw &
HTFUTRf &M |

14y i wdo i 1 Rl Tt & famr wAE
wrt &)

40,

41,

A moving black having ma . m, collides with
another gtationnry bleck having maas 4m. The
lighter block comes tn rest after coll’sion When
the initial velacity of the lighter block i3 v, then
the value of coefficient of restitutinn () will he
(11 09

2 0

3 025

(1) 04

A body initially at rest and shding along «
frictinnless track from = height h (as shawn n
the Fgure) just completes & vertical circle of
diameter AB = D. The height h ia equal to

17
t %D
2}y -D

b

3 D
[} ED

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring}, each have
the same mass M and radius R. They all spin
with the same angular speed v about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wg>Wg>W,
12) Wg>W,u>We
B W, > Wp > W
4 Wa>W > W

Which one of the
incorrect 7

(1> Reolling friction is smaller than sliding
friction.

following statements is

{21
(3t

Frictional furce opposes the relative motion.
Limiting value of statie fric won 1= directly
portional to nermal reaction

(Y Coulficcent of  wlidin-
dimnensions of length,

friction  haa
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42

43

44.

46,

w fR)ia di A E ) s R A w g @
mari e w4t (K F wewn 0 Ma w4
(Kp) s @t 1 Ma & P K - (K« K) & 330
o

(v 7:10 ——
) 10:7 5 1
5 A
4 2:5

Tt Ay Wew T 0 T A0 waffa w1a 3 M
T eR 4 TR ot Br B | W NS = TR R
N ) o @ I N A 4 TR R
frafafa # & @l Whae Tfn g @ 2

() Wefgdm

t2) it o st
(3) AZT gt

&/ﬁmé&n

nf&zﬁa:rm mﬁa&tmijﬁmﬁw
meiilom\zﬂ,zhﬁmfamanaﬂqm
R Y §?
1 TR T 9w 35 R BN
@ 9ed) I QA AHE S AR FAF AN
(3) avfi e FfaF TR I

g @ ¥ we A ewdT T @m |

W % W) 3N A s § WRom 'R H BNy
A B AtC e sad . K, Kg M K )
AC 24 215 Lagy T2 A D s wsB w24
FRACTUTRR I SARS

a ﬁw
DT A

¢l Kp<KpcKe
(2 KB(KA<KC

\)r\ﬁ

7 Ba> Ky Ko

(4 Kp>Ky> K

42. A solid sphere i In relling metloa. In rolhmg

mwtian a body puvasesses tiansietional K oetic
cnesgy (15 as well a¢ cotativnal kinetic etiergy

(K- simataneoudy. The ratio K: : (K, + Kg) for
the spbwrais

(y 7:10

(20 10:. 7

(# b:7

(41 2:5

A 30li¢ epherz is rotating freely abeut its
symmet)? 309 th free spase. The rading ot the
sphese is iucrossed keeping it8 1BES eame
Which of the following phyaical quanditits’ would
remait canstant for the gphere ?

(1)  Angular-velocity

13} Rotatioos| kioetic eneagy
(3¢  Moment of inertia

(4} Angular momentum

If the mass of the Sua were teo times amallez
and tle universal gravitatioma: constant were
ten times larger in msgoitude, which «f thu
following is not correct ?

{1) Raindrana will foll Fester

(2) Time petiod of n simple pendulum «n the
Earth would dixreasa

(3) Walldog on the ground would wecomss more
difficult,

(4) ‘g’ on the Earth will not chagBe.

The lonetic energ@es ol n flanyt in so ell ipticat
aibit about the Sun, at pesitiens A, B and C are
Ky Kg and K¢, cespectively, AC is the major
exic and SB is pefpeadicular to AC at the
pegition o’ the Sun S as ghowo in the figure.

Tben
[ ] —

A g C

————

(1) Ky <Kg<Kg
(20 Kg<Ka<Kg
(3 Ky>KgoKe
4 Kpg> K> K

CHLAAEEPage 13



46 DNHj Hy Op 78 CO, % B TFE 3w MEAE 46, Given voa Jder Waala constant for Ntj, Hyp O,

47.

48

49

FAR: 417. 0344 138 W 558 Ry we € | and O, arc respectivey 417, 0 214 § 36 and
it A @ Am 798 I @ 9 DR 35%. which enc of the following gases & most
37 casgily liquefied ?
7 ,X—S—Nnﬂ
1) NH;
2 Oy
@ 0 ) M
@ 1 {4: ch)
4) Oy ¢
47. Tolbwivg selutions were preparcd by IpwXing
A3y RAE & Na®H ™ HCl D vy fiwr different volumes of No®3! and HCI of diferent
T TE araed ¥ e A @ R sencentrations : .
ol M t01s 0 o X NaoF 4 GOmLEIO‘HC104OmLmNaDH
a m 4| pu
10 10
o5 ]+ 46 mL - NaO
o S5mL X HCL+4S ok 20 Na®L e wl 1g 401+ oL 35 NeOH
M M
7 — HCI + 25 — H
. ﬁnL%HCI+%mL%~NaOH§ /me 5 HCI + 25 mL 3 N&s(
) 100 oL M HCI + 200 oL M 1a0H
4 108mL -lh—:-HCl +100 mL % neoy v [0 L yg HO + 200wl Na
< pH of whic)u v 1e el them will be cFual % : 3
74 ¥ Fev plf, 15 v BN 2 ne G O b
b (2 d
@) = Mc
4 c

Bs80, ¥ 298 K vt 7= & f M 242 x 107 gL!
3 b Ao TR (I, ) & A 2m

48. The salubility of BaSO, in waver is
242x 107 gL' at 296 K. The value of it:
sely bility pradoc: (K ) will be

{fem nE1 T BaSQ, +% HFR TRRA - 233 g mol 1) (Given molar mass of BaS® 4 = 233 g mol 1)
(1) 108%x10705e%2L2 })J/Dleowmol‘zL!
(2) 108x 10" mal%y® (2) 108x10" ma2L®
3 108x 13 ma?p 2 (3) 108 %10 % mat?5,2
(4) 106x10° md?L ¥ (4 108x 107 mot? L

' ) 49 On which of the following properties does the
fefhfen & & #RA ™ v 7w N =7 5 :

ting pawer of an ivn depepd ?
=0 R i on the ion

(1) FEF BT T AT W™ @ dgne

@) F 503 w oy A @ oth mngnitude and sign of the eharge e
IR F TN A A the ion

31 ¥ Iw F IR 3) Si::fﬁr ion alone

@) FTa a7 & sy B w

{4) Tvesign of chatge enlhe ionalone



50 Ugw amtu ® A § @

_ Aol & A
ﬁﬂmm@@%mihm
JqFHAT ¢ ?

(1) Fe
(2) Mg
(8} 2n

4} Cu

51, Pofafea ¥ a9 13 % ot A T BT Arait &

62

G4.

SS.

waarFy e R
(1) B<Al<la<Ga<T
(20 B<Ga<Al<TIl<la

51.

8. Considuring Bllingham diageain. which of the

lullowng reetals (aa be wsed to reduce alumina ?
(1) Fe
(3) Zn
(40 Cu

The oorvect order of atedse rad i im Broup 13
clemeatsis

(1) B<Alcla<Gac<Tl
(Y B<Ca<A <Tl<ln
(3) B<Al<Gi<lnc<Tl

(39 B<Al<Ga<In<l Jg)/li‘<GacA1<1n<T

{4) B<Ga<Al<la<Tl 62 la the shuc:uie of CIFy, the oumher of oge pairs

CIF; f T=7 1«3 WY CI' | o) gm o elecdrons on centra. ntorp (T 8

AR N aon (}) ome

1 @ (2) four

(» W™ 87 two

® 2 (4)  three

@ ™ #3 Tite cmrect erdec of N cormpounds i ats

NAfiat ¥ 0 siden AT 5w R dsT289'0€ order of oxidation states is

T wn R 07 10,180, 1y, Nt

(1) HNO; N®, Ny NH,CI ) (D 1IN®s.NH,C], NO, N, & 'JM',/;
X N5 N n N=T =

(z) HNOz, NH,Q. NO. N, (3 HNYg, NO NITCH N, =

(3)  HNOy, NO, NH,CL, Ny (4 NHCLN, No. uxo,

(4) N1i,Ci Ng, NO, HNO,

o 3 R Aot § 3 . wor 5w 7
R

(1) W o el sfed sna aad € |

(2) T ¥ oRWN ) g aTdEe
FRR LR €\

3) whFhEE AT

(@) T ErmtE R v T ? |

fiofeflss & @ FN7m @ MF mm#m

FTrd 3 ¢

(1) Ga

20 B

3 Al

4 In

Whichs of the fullowing stateye its is not true for
halogeusd -
() All'ferm momobasic Qyssids

,"L?}/ All but Auor na shog pecitive oxidotion
statex

(3) Allare uxidiz ng agenk:
() Chlorioe ba:/&g highest electron Eain

entbalpy
Which oae of the following < ements 13 unable to
forr MF, jon 9
1) Ga
B R
& A
<4) In



&87.

69.

forr® 7z wam Avwy e = At 1§ fefafe

A ¥R A g X ?

M 7 fafm Giw ageEs el % e
qewurEE Ay B

12y Awome v dedE g 3eem § )

(4) ﬁﬁﬁﬁmrmt{éﬁﬁmnm wE ® vEeH H

{4) ¥ WG CT@ANS § YEA AEREtAs, A
& &

iR & TRV R w0 Som d R R

m-TZIRfAR i 59 & 11T

(1 W IR ¥ IEg TR TR s
Wm-ﬁﬂﬁ‘ﬁﬁmtl

(2)  wivares ypfefa A TR @ s
m-feufa @ am &

{3+ WREAER vheEmt sl il e
nl-'ﬁ?f’.'?m 1

(4) < (w99) mem 34 e ufawtifan s

o I

frfefga & @ WA stwere § e sy

v 2 ?

(1) MgzO

(2) HaQ

(3) Be(

{4y Ca0®

ifeita ve dfawefEs & fafien 2

(1} :ﬁma ¥ 4 g WEA TGT | — 6 WA

() iR A | 4 o dA AW 1o 6 pEE R
(3) Wem A1 4 gd@awl 6 paR B
4} e @ vE Ham § 5 R

2-3 g Wi4 2q @ 4.6 ¢ Afeafas e *
HS0, & fmm . ® 3foa ¥R fraw 1 KOH
% B gHE A YAm wW | | STP W I U TR
1 Wi (g ErEm

(1 14
(2) 28
(3 30

41 44

@, Regarding cms& linkeed or network polymer: |

which of the fotlowing statements i * éneorre 2 7

{1y They centmin wvalent bonda between
va ‘ous linear polymer chains,

(2) Exaemples are bakelite and melaming,

e —

{3) They are farmed fom bi- nd tri-functional
monomoers,

(4} They contsin strung covalent bonds in their
polymer chains.

Nitration of aniline in trong acidic medium also

gives m-nitreaniline bacause

(1} In spite of substituents nitro group always
goes to only m-pogition.

{2) Tn ubsence of aulwiituenta nitre group
always goes o m-poxitio

(3) In electrophibic substitulien reactions

apfia group is meta directive,
A9 [n acidic 1stmng) medium aniline is present
ae anilinium ion.

Which of the killowing cades is most acidic in
naturg 2— .

1) MgO
(2} BaO
(4} CaO

The difference botween amyleze and amylopectin
- — < —

ia
y)/Amylup«um have ]44@]\1{3@;@ and

1 - 6 a-linkage

(2) Amvylopectin have 1 = 4@nkage and
1 — 6 B-linkape

{3) Anylore bhave 1 »r4 oalinksge nd
1 — 8 p-linkage .

(4) Amylose is wmade up of glucose and

grlactose

A mixture of 2-3 g formic acid and 45 g axalie
acid is treated with conc. HyS0,. The evelved
gaseous mixture is passed through KOH pellets.
Weight {in i) of the remaining product at STP
will be

i1 14
2r 28
W 30



61.

63.

63.

A st

OH O Na*
@ + CHCl, + NaOH ——> bt
# gffer saegiad 2

&

(1) =EEfa e mes (CHCl,)
P @

(2) EnEmRRER R (CHCL,)

P
(3) A @R (CHO )
(4) EEFEIEAR (:CCly)

FRIFERE 0 & T A fie perR
T ez, I0E T Wl we T Trewl A
T B & | W feud T g & 2

TR BTESTEA WU 994 o

(2) wifrafea ) w1 AYE SIS WPR SRR
TR FEO WS & TR B

wﬁﬁﬂzm%t&f;
TR TR AR T Y

(1

(3)

(4)

w W } A, CgHq,0 F 6 NaO1 (Y St arfiefisan
N2OH # &t warn ma1) § Affea Wit wnwfors
Ty aen fien sEEy o d |

At Yy #an: §

B~ - oo, -on s,
@ ¢ ) CH - CHy a1,
OH
@ @— CHy - CH, - OH 3fit 1,
CH,
(4} CH, @- oH 3 1,

R

on (O"Na*
@ + CHCl, + NaOH ——> @' o
tha electrophile involved ix
(1)  dichloromethyl cation ¢ gHCl a2l
(2) dichloromnethyl anion (gHClg_}

&
() formy! cation ( CHO }

J’/dichlowcarbene 4:CClg)

G2.

Carboxylic acida have higher boiling points than

aldehwdes, ketones. and even alcobnls of

comparable molecular mass. It is due to their
h——-_'-____q

(1) formation of intramolecular H-bonding

{2) more extensive associstion of carboxylic

acid via van der Waals force of attraction

(B3]

(40~ formation of intermolecular H-bonding
e

fermation of carboxylate ion

Compound A, CyH,40, is found to react with
NaOl {prodaced by reacting Y with NaOH) and
yields a yellow precipitate with characteriatic
amell,

A and Y are respectively

M  HC~ V- CH,-OH and 1,
(2} Q tljll - CHy and [,
OH

}odl g

&r/. Q— CHp - CH;-OH and I

CH,

(4 CHy O— OH and 1,

2|



64. fmfates o @ frw 3 W 9 ¥ 0 & TE0Ed § 64, Which of the following moleculea teprecents th
npz, ap?, Bp, sp HHI ey AT 7 nrder of hybridization upz. apg. 3p, sp from left to
right atoms 7

() HCeC-C=CH

1} HC=C-C CH

2) CH,=CH-CH = CH, (2) CHy~CH-CH = CH,

3) CHp=CH-C=CH M“ CH-C
‘Hy = -C=CH
(4 CHz-CH=CH-CHjy (4¢ CHy-CH=CH - CH,4

65. FPafefn d 2 ¥m welvrgs soits et
i & 7 656. Which of the following tarbacations is expected 1o

be most stabl 7

KO,
NO,
(1) I
(i)
tL)
Y H X
Y H
NO,
(24 H \ 33
v/ & .\y/ﬂ .
NOy,
NOg
(3 ]
(3
H
¥ H
0y
H NO,
(4} Y H
(4) Y
66. fmfifgn & ofremsi & -T s F el & -
A 2 2 (R = FEA) Which of the {ollowing ia correct with respect to
) ' — 1 affect, of the substituentg 7 (R — alkyl}
- - - E— -
(1 Nilp <-OR <-F Jp/h‘[}izc-DRc—F

(2 =NH; >=OR>-F i2) =NH;>=0R>=~F

(3 —NRy<-OR< F 13 - NRy<-OR<-F

(4¢ —NR;>-OR>-F 41 -NH{,>-OR>-F



67.

GE.

69.

70.

71.

P [CoCLfent,] T i aueaam & Sk 67,

1 sfadm FeEgam

(2]  =EEE SYrEEE

13)  ITEREUIEE AR

4) UL AAEEET

Frafafiga # 4 S9-w wq d-d IFww zofn & a0
wa # g 1 oft 2

(M Cerd”

2) MO,

i3] Crg0y”

(4)  MaOQ}

WA FNIR, FelCOis &
(1) Sg=hegH

(21 A

(41 THEFTH

(41 RFzw

[ oo @) wtew 0 & from 70

arreit ggm =owfa amed A fieme Tm

#F Had ) [ A ;

#ian [ s It
a.  Co™ i V8 BM.
b. e ii. V35 BAML
e. Fe** iii. 3 BM.
d Nt iv. J24 BM.

v. 16 BM.

a b ¢ d v
(1} v v ii i A
(2) iw i ii iii
13) 1l il iv
IS T Y i

71

INI(CO1,] FFa it 7enfafy o3 ged 1 1 &
1}t awecht =il w rfgeer
2y =t awaeft =nfafa oF sggEfn
(3)  pewerha sl @ afgeadi
(41 TR TR vE sy

/% 2

@ Irnn carbonyl, FelCOd, i

The typ of isomerism shown by the complex
ICeClylen)y| is

{ Geometrical isomeriam

{2} [onization lsomteri m

(3 Coordination isvmmerism
{4) Linkapge isomerism

exhibits
d-d transitien and paramagnetism as well ?
N ————— P e L e —

Which one of the fllowing wons

@ 1?
(L CrOy - .l'r o
: R
@ Mio; !w:i% ol
2 = \ Hee
(3 Crady” 0 go Lo
@

(1)  tetranuclear
(2)  wrinuclear

{ mononuclear
(4)  dinuclear

Match the metal iona given in Column § with the
apin magnetic moments of the ions given in
Celumn I and  -sign th correct cods :

Colymn | Columa IT

Co®* i. J8DA{

[ o ih. V35 BY¥

. FW ii. J3 RM
d N v, V24 BM.
v. 158 B.M.

/ b c d
v v ii
" =

i2) iv i i i
B i i i v
Lol
(4) it i
The geometry snd magnetic behaviour of the
complex [ (O] are
(1}  square ph?.rgmmetry and diamagnatic
{2} square phar gpeametry and paramagnctic
tetrabedral geometry and diamagnetic
(1) tetrahedral :eometry and paramagnetic



79, wan sz vy G e afifEmat § wh Efism R 720 The correct  difference between first- and

1 wem WP 6 R = an 2 econd-vrder reactivns i3 that

- - ) - (11 the rat of a first-otder reactien does not
Az @ PR Tl ww w3 e &) depend on reActAnt concentrations; th  rate

afufier =1 dm whrers & Ty @ ik of a second-rrler reaction dovs depend on
? ren ol concentratinns
(21 wam B2 1 3 = =W fFm | wwn (2 : m::ifﬁ::- ,l'ean:'-ti':lc;ucsig :,E L;?::l)::;l a
#; fofs iz it oftlen 1 s@iftm T ' reac vt be
7'!5;" T R (3L~the halt-lite of a first-order reactien does not

depend onn (Al ; the helfi-life of a
{9 wwm itz f sl 4t wad-mm (AL, W AR second-order reaction does depend on |A]}

TH ¥, T a2 A s #1 oniang 1Al "

the rate of first-erder reaction does
Q@ R depend o reactant concentrations; the rate
. ‘ ) of a second-order reaction dees not depend
14 Ffe & ofafrm =1 afiwrs 6

on reactant concenirations

agmat T fh Fm 2 R S 1 ufa -
T I afewns € wrgwet w Ff T8 wm 73, Among CaHy, BeHg, BaH,, the order of ionic

2 character |
ﬁf{f < CaH, < BaH,

73. CaHy BeH,, Baly # ¥ wgfa & @
goomT (2 HeH, < BaHy < Call,

i1r Bely < CaHy < BoH, (3) CaHy < ek, < BaH,
(2 Belly < Batly < Cal, 4) Bubl, < BoH, < CaM,
13)  Call, < BeH, < Boll, ‘

(4} BaH, < BeHy < CaH, 74. T'J:as::;c:;afe is the number of molecules of water
74, Tom Ruf o el < wem sfwm R 7 mf;m & ooV -
(1} 18mL7= fau (2) 080224 L of water vapours at 1 atm and
{20 latmTd 273 KR 0-00224 L 7@ @ & R RY T
%) olsgwe 3) 018 g of water B

] 14) 10~ mol of water
4) wi¥ma o feu

. . Consider the chunge n oxidation state of
Bromine coyresponding to different ¢emf values as
shown in he diagram below -

O T I A —
T fafim fa. =1, 981 (emf) wH W TARR TN
_ 182y _ 15V

-._ 1 _ . N _‘.
Bf0¢ Bl‘03 > HBIO N 8104 82 V H“'I‘Os 1-6 "v HBI'O
Br “Tomzv B “1z5V Br- Br
s v 10652V ot 1595V
FRA i seEd @ [ @ 2 Then the species undergeing disproportionation
(9 Bro_g
(8 §! BrD;
2' B ¥} . -
( r«-’. &/Bl‘a
31 BeO, W8l BrO]

(0 11BrO {4) HBrO



76.

71.

78.

79.

80.

X, Yo alk XY i ey faaem Satst &= I |76. The bond dissociation energies of X5, Yo and XY
1:05:1 2 1 XY % fw=mm @ A are in the ratio of 1 : 0-5 : 1. AH for the formation
AH = — 200 kJ mol! & | X, ¥ ey fagim st of XY is — 200 kJ mol™". The bond diss
energy of X, will be
1) 200 kJ mol™! (1) 200 kJ mol™!
m
~1
(2) 800 kJ mol™! v> @ 800k mol .
-1 . (3) 100 kd mol™
(3) 100 kJ mol L,),uj . )
a0 (&0 k) mol”
(4) 400 kJ mol
. ) 77. When initial concentration of the reactant is
9 Afires h IRfTF G wl g 5 St %v o doubled, the half-life period of a zero order
W = Ff aififrn & R and-amg F1a ~" yo reaction
(1) o B 2 © (1) ishalved
() fpm ﬁ?ﬂ 3 (2) istripled
B 2 )ﬂ/m doubled
@) Wﬁ fea T & (4) remains unchanged
) 78. For the redox reaction " g -
e 0% 'LNIHOZ +S:203_ 4['%+ > Mn2+ + 502 + HZO
" - , Mn2
MnO; +C,0;" + H' Mn™ + COy + Hy0 the correct coefficients of the reactants for the
. ’ . balanced equation are
% fou wgfaa afiem & fae sfiews & @@ s
3 MnO; C,0f~ H’y
(1) 16 5 &
MnO; C,0>- H* \
e e @ . 16 5 O
3 2- 5 16 .,
@ 5 16 9 7 Which one of the following conditions will favour
maximum formation of the prqduct in
sffrn & Frafifam 3 & Sl q s I reaction, R
e X kJ ? (1) Low temperature and lligh  pressure Q
Ay () + B? () = X () AH =~ ' (2) High temperature and high pressure
() = A T = \_Q)/Low temperature and low pressure
) 3;“ @3{:;;!3 (4) High temperature and low pressure
(3) RILRC q
. 80. The correction factor ‘a’ to the ideal gas equation
@) F= A e corresponds to
ey g gliF § |aA T ‘a’ gafua 8 (1) density of the gas molecules
(1) 7\ e % 993 4 (2) ele?tric] field present between the gas
@ g sl % mer uftua fga A9 A molecuies
@ g s ¥ N (3) volume of the gas molecules
emg . ! ( forces of attraction between the gas
(4) 9 RN F Hem AHYY q& A molecules

2



Bl.

B2.

{2

teRfPm T aw (X)) @ e . i
e | R 00 foag serg 3
AT [ 182 2s? 20 %, W W e .
an g A

(1 Mggx‘r]t

MK

MgX,

MizaXe

(3}
(4}

AT & T F TR T e TS AN F | 900°C F

FR B foc =N F AT B IR R | AR F WA

F 70 WA F 900°C 919 W ¥R & HI9W@ T

(U e FrE W We ZEm oF T e W
iy feam &)

J3
(1)
vz
w B8
442
443
3 2%
342
1
{ =t
8 3
fraferfian wftvfia w R Fifm -
CN*, CN7,NO a0 CN
7 U Rl g e X 7
(1) NO
{2) CN*
(3) CN
9 CN

fr=fiafas & & 9 o e B 2

(1) ‘¢ *wuE d g@ag W % SuE Sy 59
W= & wa

(2) N W w1 seaEin
@ o Il
T 114 Lty
(2) "R w% A9 FEze goeat § G2 @ el

TE it § ok g 90 W dEmi 8
faftz &

4y d2®Fem’ ARIE |

Rl.  Magnesium rescts wih n olepwen’ (X to ferm an

ionte cermpound, If the ground state electronic
configuration of (X) is 15~ 25 2p7, the simplest
formuln for this compound is ~ &J

(1) Mg.Xq

@ MgX

(3)  MgX,
i MeX,

R2. Ircm exhibits bec structur: ¢ room tempomtura.
Above 90X)°C, it transforma to foe structure, The
ratic of deagity of iron ot room temperature to
that at 900°C (assuming molar mass and atomic

radii of iron remains canstant with temperntur
is

&al

@ =

=

/

*

J2

e
B |

(d)

[+

14)

b3 | -

83. Conzider the fnllgv:r'mg SPECHeS |
CN", &&E, NO and CN

Which one of these will have the highest band
order ?

(1) NO
(2) CN’
CN™
4y CN
Which one is a wrong statement ?
(1)  Total grhital angular momentum of electron
in ‘' ogbital is equal to zero, @ <O
})/%: electronic configuration of N atom is
| 1s? 22 2p; 2p] 2p)

ol [ty [ttt

An orbitul s designated by three guantum
numbers whils an electron in an atony ix
di gruntad by four quantum numbers

The value of m far dzg i3 zerq.

84,

{3

4



85. «EFER I YW @ 7eR frmail A @ At IR

1 ¥R 71 HFWTES Wy I+ T 8
1) N

(2) NoO

(8) ¥NO,

(4) ¥NO

23T (A) M} R ZH e <&
e B 3 ¢ M B gtE ofifEn
iR TR § e g %ed 5 9w A Wy
Frda T § 1 (a) R

1) CH=CH
(8) CHaz-CEy
(38 CH, =CH,
(4) CH,

M A Ne R 35U @ w R B Tt 7w
PCls ¥ ¢ afaffeq Fas AT Cam e | BW C
§0 & w § 2P0 FEN T /YA N v
AR A PDANNCHFIEF

(1) CgH 8H. CoHy CzHC!
(2) CHCl Co#, CsHOH
(3) C,8,0H, C;H;CL C,A@ONa
(4) C,H;@H, CsHzONa, C,HsCl

88, T A Ci, Sififan Jfifema e

2CL/A Be/F Zn / BCY
Cyli,—-l?-——aA ERRAA N}

c
TR C'R

1) m.ENTIR

(2) 9.7 2 4 g IR Jo

(3) o~ W

4y paMuId

85. Which wade of oitrogen 3 not 2 common

poliutnnt intkroduced inwo the atmesphere both
dae %0 natural and haman activity ?

(2) N,0

) NO,

(4) NO

H (A) reacts with bromine by
foom an 8 k) bromide which by

Wurls cesctioa ® ooaverted 4o @essous

hydracarbon contmning less thou four carhun
atame. (A) .3

(1) CHaCR e SN R\‘h
427" CH; - CH, - =3

(3) CHg= CH,

(4) CH,

The compewsid A en treatment with Na giv.es B.
and with PCl; givesC 8 and C teact sogether to
give diethyl ether A, Badd C are n the ordmr

(1) G .8H, C;Hq, CoHCH

(@) CoHeCl CHg CzHOH

(3) CyM OH, CaRCl, C,HgONa

187" C,H,OH, C,Hy0Na, CyHCl

The compound CsHy undergees the following

reactions *

8Clg/
Cls &ABrg/Fe an/}ic_l’

CoHs e

The preduct C is

(1)  m.bremoto uene

(2) 3 bromo.2.4.6- ichlorotoluene
(3) o hromotelucrne

(4) P kremotsluicoe




89, Frafafn sfifen sqeen @ g s P, Q 3 R
w1 ggEiu -
r G
| AlC,
@ + CHZCH,CH,C
1) Og o
titl HaO Q+

Q R

CH, W,CH; CHO

‘a
{1 © | CHOH,-OH
S .

CH(CHy), __ OH
2 @ @ CH,CHIOHWH,
CH,CH,CH, CHO  COOH
A O D
OH

CR(CH Y,
o (Y cH, - €0 - Ciy

20, F=fafes d 2 fR.m dts Rz @@ ®Fn 90,

2

i1y e

() FHFER A
(3) vHRfAeEe
(4) EARHRE

Identify the major products P, Q and R in the
following sequence of repctions

Anhydrous (_ - t“?

AlCl,
+ GHsCi‘IgCHIC] e T T 0
i (i) O
9 [ pambne. Q+R

_—
(i) HaO*/A

1) ) CHyCH, -OH
« A, CHyCH, -

(3) -

| cucHONCH,

COCH
N R Ne
OH
CHOH ),
(4) @ CH; - CO - CH,4

Which of the following compounds can form a
zwl'ttﬁ'm.? 13

{1 Aniline

{2) B uicacid G')(

(3)  Acetanilide

J;y/(}i[ei bt



9l.

92.

83

.

8s.

Gofofa i A FR® 1 I8 7 91 Whiehoi the to lowing statemeots is correct 7

(1) smwwhtE § faer Ferm M e TEwg )Y Owiles are mx{ ciclosed ty avary wallin
ErsRcll TnesPeIms
(2) Feea srngardl € | (2) Torscon § sro @ Oweperma
(3) R Te Rwdom am 3, TR (@) Setaginells is heternspornus, while Solcinie
4w & gEa IR | is horosporous 7 —
(¢) e R AR s 5 sveR (4) Stems are wsnath, wnbranched in bath
RE) Cycus and Cedruse
ey SmA g 2 92, WO@‘Q
=oiw o Halophytes
(2) qErEdNee | (®) Curvorous Plents
(3) TR TaQ TH AR 9 (3) Proell outiog hyd aphytes
1) IO IR H (4) Suvdmerged hyd vphytey
TR TR T U 8 ? 93. Sweet pottio isa modified
1) = 1) Stem
(3) Yoovd (2) Tap raot
(3) Wﬁ?‘ bt G 'J})/ Jdvenlitious raot
(4) FS% ($)  Rhasoe
% W 7R F R B S AR ARSI 9y, plants baving litth o0 secondary Dowth an
e 7 ' Grasces
D E{W (2 Conifers
@ Tguh (3 Dewduoua snyjeaperms
(&) o xIadA ) Cycade”
W mm 85 Ca )] trips o 0
3paris o stri wour i
?;aﬂ :%u;:—g aR iz W) 2ldermis
T (2) rtex
fﬁ,’ whaew 3) Pasicvcle
(4) T _$37 Endedoirais
Tdaedt 73 4 RS Trvem o wilew B SMF 86, Secondary xylem and ghleem in dicot akem are
& produssd By .~
(1 e Ve (1) Ap col merishemese
(2 TR (2) Phellegery”
{3} &R @ ‘ Vagcular camblmon
g) FHNT "/

(4) Axillary mer :stggs
Tod ¥¥a = ﬁﬁ’{:

. Y7. Segct the wrong statement ;
() «aF 3 TN JE H W § o B

1) Cell wxll = ﬁnesey_members +f Fangi
EraEn 2 and P sntae
(2)  eXOR6A § grmM I o Em T sR & . Peeudopodia are wevawtory and  Socd ng
mvmig I sfrucluresin Spornzvans
(3) o W Ty AMafednafeda w g (3) Mvushvoorns bﬁ-m-g—te—Basld'WWS
(d) T F SEF—wf—ofeedt H HTD

(4) MitochOrndriaare the poworhouse ofihe cell
Fgra w & e wn al kngdaerms except Menera —”

Hi



98, #.A.n  AFEE 'ITFﬁif-'i Ity gazag P8, The experimental proof for semiconservative
frd Zaka v &1 0 replication of DNA was first shown in a
o - tlh  Fungus
g6 H
:;: i {2 Plant
. e - Y Bucterium
(3) ‘ﬁ"‘f‘; 41 Virus
H' ) ﬂﬂ . 99. Select the correct match :
99, @@ gia B T lec Jeffreys Streptococeus
(1) uem hE - R i pneuntonice
(2) Azg AReET o UF. 10 - TEeR AT {2) Matthew Me ‘lson (g — Pisum sativin
(@) were A ol e - #am A, ~ and F. Stahl
(4) e e A AT - @ (81 Alfred Hershey “""71 - TMV
o Mortha Cha - /
100. &F s =1 gf 14> Francois Jacob aml - Lac operon
(1) ‘wEEE w2 1 Fedn Faten e 3 fE Jacques Monod
(2) TaEfAmEm AEm § wymaa € @ Select th * correct statement
(3 weal fifen  nfe g fasfem S oma (1) Franklin Stahl coin.d the torm “linkage".
41 ) (21 Spliceosomer Lk part in translatiom
(4) M i @A T A @/Pumm‘li square was develop d by a British
101, Refafer & @ FRa1 W 797 w0 & gikaa 2 scienfst —
(1) 7 # 13 avsem wERrwct (4t  Transduction was dissgfered by S. Altman.
(2)  XO wr fom fndm f?,;ST 101. Which of the following pairs | wrongtly
: ' - nuite)ed?
(3) ABOTH T ' 7 Starch synthesis in pea : Multiple allal s
(4) A7A. R 9 Y
(2t XOtyp " Grasahopper
iriry fees m e @ 2 delermioation
(1) sigd fauR gr 3t ABQ blood gmuping\./: Co-domininee
(2) AREREAR g t4} T.H Morgan '+ Linkage
(3) @ fagra= zm Offzets are praduced by
(4) SFNHAH g (1) Meiotic drvisions
12} _Tarthenocarpy
102, Rafafom § 3 fond o5 A A ¥ wmam U9 Mitotic divisiens
e m B ? (1) Parthenagenesis
B s T R ) Renesi
{1 LSiviE 103. Which of the following Howers nnly once in its
(2) W life-time ?
Bamboo g cles
{3 w33 {2)  Mange
{4} gd 13)  Jackfruit
Fratafga i Al G H AT & oW f 4 Papaya
oftfa F 1 §E9® WS £ 7 184, Wluch of the lollowing hus proved helpful in
a1 wm ® pruserving pollen as fossjls 7
_ S t1}  Pollenkitt
{2‘| WL s - 2y il ermti mt
(3) e AIEm F: W 13)  Cellulosic intine
(4) ARG 47" Spuropollenin



187,

108.

109. @& i s grr 33 ) o B W R

110.

wa e A 9, F TE e & 8w & faw 106, Which of the fullowing | commonly used as a

frofefas & A 90w waw fEan e vectur for introducing a DNA fragmenl in human
X b lymphacytes ?

R - { ; Retrevirus

1) TIamEm (9re aEm)

12y LwrA 2y A phage

13) Ti =i 13) T plasmid

14y pRR 322 {4) pBR 322

Tifata TGN svf@em (PCRt =79 %1 = 106. Th correct order of steps in Polymcrase Chain
1 " Reaction (PCR} is -

1) e ﬁqrﬂqs‘m AT {1) Exienasion, Denaturation, Annealing

i2) ﬁg{;ﬁ;‘m ﬁm‘ R {2)  Denaturation, Extension, Annealing

) m fm m ™ {3) Annealing, Ext ngion, Denaturation

‘ M S f De'umt.uratlmu,Annealing. Extension

4y Rt |, adfeR, femm / )

L. . , 107. In India, the orgenisatien respon ible for
w3 % fog mgaf!m s i F avsessing the safety of introducing genetically

¥drn wd g $ e e wwa - s R mnditied organisms for public use i
A I B ? i1} Indian Counci of M dical Resvarch (IC AR)
(1} WIAR 9EEeR SR g (CMR) (2) Research  Committee  on  Genetic
i2)  wEfRs shars wEee qff (RCGM) Manipulation {RCGM}
(3 IR @ st sAEuR Tz (CSIR) (3 Council for Scentific and Industrinl
4y AT RS i aftfa IGEAC) Rese wch (CSIR)
. i . (. Genctic Engincering Apprairal Committee

FICR wafd il TSGR faft 3w o w% (GEAC)
&m A f st - dgwemes)  3v@m @ 108, Use of biarezources by multinational eompanie

IR and rganigations without acthorisativn from the
(1) Sa-Ee concerned country ind its people ia called
(2) IR (1) Bir.r-in.friﬂg& ot
(3 '-Wﬁms”tﬁ? {jq WJ {dt Bl'odogmdatu)n
@) Fasrm 37" Biopiracy

(4) Bicoxploitation

(vra) Farar T wr, gy Ot Rl v § e Tma 109. A ‘new' variety of rice was patented by n forei

3 i Girm - company, thovgh such reties have been
q B im e s Ak present in India for g long time. Th” is related to

{1} Co-667 {1t Co-867

(2 i s (21 Lerma Rojo

(3w wEm (3) Sharbati Sonora

(4} » amHud L9 Besm

M g ofiw: 110. Select the correet match :

(1) TERTATR - ftew awa ‘)4)4/ Rihozyme -  Nuclese acid
(2 Ao=. ably — @ t2) T.H. Morgan oo Transduction

(31 Fpx SR T fawswr ws t3)  Fgx Reressive parentyl-~  Dibybnd cro.
41 . d== B =i 1Y G dendel - Transformation



111.

112,

113.

114,

116.

116.

ice s R
() FR & vaEm & @\ AT S

12) T9H F IF W A AW R F fay
afan

111,
(1

(2

iche i

all the biclogical factors in the nrganism's
enviren me il

th range of temperature that the organi:an

(@) s vne T o Shaun e ede b live
@) oa dta g B v e s, T X the physical space where an vrganism lives
‘{"Sﬂl - ' ) ' I4)  the lunctional role play d by the organizm
) i whemi lives
feafefign i & wm Rios s 0 ,
"y 112. Which of the following is . econdary pollytant ?
(1) CO (1 co
2) 80, @ 80,
e @ Co,
fava AR f=9 w8 T e R v
(1) 5 @ World Ozone Day is celebruted on
@) 16 v 1) 5" June
(3) 21 2y 18" Septembor
W 22309 131 21 Apri
RfeH & 7n s & 7 2o Apel
(1) g » ]
(2) e Wt whed R =i f wem » otaliy peless to
@ 3 11)  Death rate
. X - - ) (2} iumber of individuals leaving the habitat
i4) oF sam d wfRed W at i qon Bith rate
smeen #, dER $ Gedem o wfeas (4) Number of individuals entering a habitau

At 1 fagfe # fefaien 4§ sH.m 115, In stratesphere, which of the follo ing elements

Fre o XX Rl

(1 FHEA

@ Fe ‘

3 «l @)
(4

{4}

frefafaa wtegt § fow gom = offcafefs fos
urq fwar IOm ?
fdtas Ta9F « 120 ¢

wrafaw IIM ¢ 60 g

iR IAEE 10 ¢
(1) X ¥ Ie f@fae
(2) &N = @y fafes (2)
(3) I & TRz {3
(4) I = d@ien ffE 14)

acts as a catalyst in degradation of ozéne and
rclease of moleculur oxygen ?

Carbon
I'e
cl

Mhygen

116. ¥hal type of ecological pyrémid would be
obtained with the fellowing data 7

Secondary congumer : 120 g
Primary consum r ;60 g

)/b-imary producer : 10 g

LY [nverted pyriunid of binmass

Upnight pyramid of numbera
Pyramid of energy
Upriglit pyramid of biomass



117.

118,

119.

120,

¥2],

122,

123.

124,

e T um w2 7 117. The Galgi complix participates in

(1 @ :ma" HTs ] (1) TFatty acid breakdown
(2) WA A I t2) Respiration in bacteria
(3wt % & 5 M ormatien of secretary v sicles

(4)  ofH-mver wheau

{4}  Activatien of amine acid

frafafem 8 WA o TEmEvATs & s Which of th following is rat a product of light
Sl w1 e T8 20 reaction of phatosynthesis ¥ —
(1) ATP (1) ATP
(21 NADPH {2) NADPH
(3t NADH @ NADH
(4} Oxygen {4  Oxygen
wﬁﬁf‘ A PR & TR 7 2 119. Which among the following is nef a prokaryote ?
(1) &z ¥ Saccharompees 1
(2) s {2) Nostac~
(9) mw () Mycobactefium
4 TR W @acillatgeia
vl #) rfyeltorm feea waifam 727 w6 7 @ tomatal movement is not atfected by
(1r AR E 1)  Temperature
(2) O, F7M W 12) Oy concentration
(3) vy # 49T Light
(4} CO,TEM A 14. €U, cuncentration
T * fu fafafgad a slrm =@ 2 2 121, Which ofthe ollowing is true for nucieckus ?
(1 Tt St § e SfEs wE 11)  Larger pucleoli are presont in dividing cef)s.
2 WIFFAdwmAm Y| 12) It takes part in epindle formatismyl

3) T fuftdRowEm ) (@) It is a membrane-bound structuned.

(40 TR TFHWA RNA wocEm = FHanim &m ( It ix n site for active ribosomal RNA
Bl synthesis. g VLR

oM aqIr oA W 9EATH ke waear § wow 1220 The stage during which scporation of the palred
A2 ) homologeus chrotiosones beging i
(1) v (1) Pachytcoe

N (2) Diakinesis
(2) At o
@ R 37" Wiplotene
4 LT (4) Zypgetene
0 F D e T i BT 123. 'it:; ar;u::‘ I'um:uurna.l groups characteristic of
(1) Egifane i afm ——

il ; .. (1)  hydroxyl and methy)
(2) FEEA i e o ‘
@ e s e (il caﬂ.;:nyl aml'il ph:lt::]pllmt&.
(4 FEFE A R ) carbonyl and methy

- o J,M/ carbonyl and hydroxyl

T o 3 w2 124. Stomats in grass leaf are
(1) EAERR y) ingrass leaf
. i Dumb-bell shapd
{2.’ AATTET (2)  Rectangular
’ﬂ]‘ TR (9 Kidney shuped

(4} Harrel sha



125. FfEfEn @ @ SR W29 TN $ T T8 & A
a1 e wg ot 3, Fodl < ¥ ve.2m & R
S e wgs (ol @7 T wwm 2
(1) ImEew
(2 e
(3
A4 o

128, FUN T w WA § 99 F fow 3@ WP & e
ANEA W YRy fEa A W 2 7

i1} =120°C
(2) =196°C
(3) -80°C

(4 —160°C

127. Tpu T & 7
(1) ok W 56 & 2 F gwel F A fm 9
a1 G
(2) T T GE I UF AL AE T
(@) TE T OE w)F) YA S & e
(4 T were st Preers

125. Which one of the folliwing plantg ghows & vory
close relationship with a species of moth, where
nane of the two can complete its life eycle without
the sther2 — - T
(1) Hydrllat
{2) Bnnanaf

M’uaa
(4} Violowt

126. Pellen grains can be stored for several years n

liguid aitrogen having a temperature of

(1) -=-120°C
- 196°C
(B -80°C
(4) =160°C

127. Double fertilizetion 15

(1) Fusion of two male g‘amgﬁs of a pollen tube
with two different eggs

(2}  Fusion of two male gametodawith one egg
(#)  Fusion of one male gamgte with two polar

npcled
128, Tead wwmgveh § siwdin 757 Head 7 (4}~ Syngamy and triple fusion
(1} o FFw FwdifEn 128, Oxygep is nof produced during photosynthesis by
(2) = Green sulphur bacteria
(3) els (2) Cycas
4 3 (3) Nostoc
120. fyefafirn § & Sam s w7 w6 =" (4) Chara
T % R T R 7 Which of the following elements is respansible for
(1 A=ffrm maintainingmrgﬂtinceﬂs?_
(3) wifEm S,
(4) e i Lo
(4) Calcium
130, wifirf w557 § NAD* &t i s # ? X h
(1) 8 vF AR S N A r What is the mle of NAD" in eellular
s SR s respiration 7
(@) ;z‘ v . wr % fn v i e (1) It funetions as an enzyme.
: . It is a nucleotide source for ATP synthesis.
TEEA AEE & w5 : -
:i; :Esq:am T ;qi;gqm mit| S\ It functions as an clectron carrier,
2 : (4) It is the final clegtron acceptor for anaerobic
¢ respiration, y
131 S g iy e it 2 % 80 w9 8 {445, o which of the following forma ia Iron: sbeorbed
(1) f ﬁr;c [
(2) A (2)  Free element
(3) = i g (3) Ferrous
(4) e o e e (4) Both ferric and ferrous




r

152, Wy eanse Rt g # o

(1) s .
(2) 3w
(3 swew
41 BTH

133, Frafafen 4 & frml Savern aom sfghfnre
% qrarq dram afewia sy d v g E 7
(1} =ein
2y efwm
(3) omEam
(4 TR

134. fi=fefon & 4 SRm 7 s d g 1 2
(1) ey 0% - WIeREII
(2y Fm - mERE
(1 Remfes asdiam -t tem
(4) UFRRITES S -  FHH

195. Ty | 5 4l 1§ 72 | @y 11 < 5t § fowm Hfan
3R 4 o o Rt 4 4 s e W W@

Hifm

| = 1
f. WERmERm i ufafye oEdl o weE &
OB 5l U =N |
b. FR i. ok g 1 o v wf s
e o wA ge wn g |
e BUBMY i Qe s el e E @
IR 3N QAR T
i W & A R |
d. wught v, o yfeeew faed gt 6 g
(et i 7% faaen g9 £
fafim i« &) qwan =@ 4
eS|
a b c d
(i v i i
(2 @ iv il
@y iiod i v
() @it iv i i

182. Winged pollen grains are present in

(1) Mustard
12) Mango
13)  Cyeas

yﬁinus
133. After karvogamy folbowed by meiosis, spores are
produced gXagenously 1

(1} eurospornt
I2Y" Agaricus

(3)  Alternariop-
(4)  Snecharomycy

134. Which oneis wrongly matched 7

LY Uniflagellate gametes =  Polysiphonia
{21 Gemmaceups .~ -~ Marchantia

(3 Biflugellate zoospures -
{4} Unicellular CrEUnISm -

Brown algae
Chilorella

135. Mateh the itemns given in Celumn [ with those in
Column II and select the eorrect option given

below :

Column I Column II

. He 1 lt 15 a place having a
collection ot Eteéewgdy
plants and aimals.

b. Key A list thai enumerates
methodically all the
species found in an area
with brief description
aiding identification.

C. Musenm I= a place where dried and
pressed plant specimens

unted an sheets are
pt.

d. Catslogud iv. A booklet containing a liat
of characters and their
alternaies which are
helpful in identification of
various laxa

f b c d

1 i iv ii it

2 i iv il i

(3 ii i s iy

N7 T I R



136.

L37.

138.

139.

o & Saw edl o A @ g

By

(1} wiEse
(2 ERHR
(3) TVIEREM
4 R

Which of the following iz an gmino acid derived
Iwrmoue T
nig Epinephrine

(2} Estradiol

(3} Eedysone
{4} Estriol

Frafifi & # 0.8 st s da Tes w A 137. Which of the following structares or regions is

7w ¥4 B iR X 7

(1 Fgen sz ;v T w2 T aitd
1 R = |

. TR W smred e
AIQUIR, & 79 9
R == |

. gl & F whers &

fafv= &7 +1 AW A ARG
£ nfa = FEEw =@

: 9 w@ 2 it v
) g1 @ g @ )

(2) FEYEE

3 fofes

(4) W FaEm

q99 3 § T d9 fhTe g W MR W W

X

{1) na & ¥ JE |Ral g0
(2 fE ¥ 32 fea Wl g
(3 g & ¥ TRt g

(4 sy wR @ g Rl AR g

Biofefan @ @ f5m @R € wfoghom G o

g 4 7

(1) WA wE el
(D TR wa Hrasss A
(A)  HATEA UH ReREHR
(4) Hnarsis wHE U WEtE

incorrectly paired with its function ?

(1} Medulla oblongata : controls respiration
and cardievascular
refloxes.

t2) Hypothalamus production of
releasing hormones
and regulation of

teniperatury,
bunger and thirst.

&Anhic system consiste of fibr
tracts that

interconnect
differen regiens of
brain; controls
muverent.

(4} Corpus eallosum hand of fibers
connecting loft ancd
right cerebr
hemi pheres,

)
@ The transparent lens in the humarn eve is held in
itz place by

ligaments attached to the aliary body
(2} smooth muscleg tisched to the iris
(3}  Daments attached Lo 1l iris
(4} smooth muscle ttached to the ciliary body

139. Which of the following hormones can play a
significant role in asteoparosis 7

(1}  Aldosterone and Prolactin
(}ZJ/E‘strog_e‘n and Parathyroid hormone

(3) Progesterone and Aldosterane

(4)  Parathyroid hormone and Prolactin



140. frafafEn seft faem e & @ 7 fren 1400 Among

141.

142.

143.

1“-

146.

the foullowing sets of examples for

w9 HFT 1y divergent evalution, svlect the incorrect aption
(1) e, I9ES T4 ST § 3R 111 Forelimbs of man, bat and cheetah—"
(21 WNRE, 5@ UE A % Hiees 121 Brain of hat, man and cheetah

(3) =mmEE, WE W@ Jar w1y 13)  Heart of hat, mi 0 and cheetalh ="
()} AFEEINE, STIES vd AHs @ Al 4" Eye uf octapus, bat and man
fafufias o & -3 @ i EF R Y
(1) &ifctfam

Which of the following iz nof 1n Auteimmoune
ds o ?

(2) CHIIFAL UM 111 Psoriasis
(3) ¥ wiiine 12)  Alzheimer'g discaze
@ ffe 3)  Rheumatos arthritis

14} Vitiligo

fArfafga sfwmgm 4 % SR o H ST @ #1142, Which of the fullowing characteriatic. represent
anmf’ w zeid ‘Inheri e of blood groups® in bumans ?
8 Tariam a, Dommancer"
b EEwRE b. Co-deminancen"
. wW e ¢.  Multiple allely
d ﬂ‘l‘i ML IEG] d. Incemplete dominance
v EAH IAEM e.  Polygenic inheritancs
1) b et e (1) b,cande
{2) L, dTW e (2) l?. d and e
(3 abmac M,bandc
) acMe 4 cand e
fen I & wew Zm 0N a'q"ﬂ * w qEE 143. In which disease docs mowquite transmitted

- . . pathogen  cauwse chronic  inflammation  of
aTiefa § fare wha 3= W R 7 lymnha - ’
(v m Elephantiasis
2y forad Im L N

. . 2) Ringwonn disease
(3) eRfefan .

A 13) Ascariasie

i4) swffaifen

{4)  Amoebiasis
FAE TIFH & MUE ) ATE W A HIEM 149 The similarity of bone structure in the farelimbs

fa Iz & 2 of many vertebrates is an exgmple of

(1) dRATN " Homnlogy

(2) SR Gwm (21  Convergent evolution

(3 FEHETm 13}  Analogy

t4) TN R 14} Adaptive radi tion

L) H 7 ’ TOOWM ¥ Y s 9w gWdl 1°a. Conversion of milk to curd ymproves its
e qu % &A0 R R 7 nutritional value by increasing the amount of

) feefa » (1} Vigamin D

@2 frefim By, _}'/w‘x‘a‘““’ By

) fafm A [3)  Vitamin A

4y faefs B ) Vitamin E



146. Frfafas § 4 fufern fem § afedfas & 7o &

147,

148.

149.

150,

fow wofee i #d owers fEm e wnn Hi
et & 2

i e
(2)  wEhifam
(31 wEE
(41 o=

Fafafas 3§ & FR.m ‘Jreran ey 7 7 9T 7

(11 TFA-Ae  Em  ©
(2)  amedfas oM
3y e IgEq

$) dF =

Ty [ &gt g w11 ) w R famwm
i 9 R v Beedt 4 % o e | T
&ifaw ;

& | @ 1t

a.  goEn i, UV-B fafem

b. fizh F=fe=m i, FAEH

c. Toowen (= sngEaE) il S |\l

d. 7w adh v, SR Rvay
a b c d

(1) i W iv

@0 @i v i i

3 i iv

(4) ii iv iid

v 3m i Tft g Fen #

(1) A e FHYY TR Q Jigs & |

(@) Fwn w T 'R sen § wow B
|

(3 oY sfR AR smfen G g #

4) TG IR Arem HEE & om w & |

i At |
2y Wz a
(3) dAeF@ @
() 9 E

147,

148.

Which one of the followinr population
interactiona ir widely used in medical seience for
the productien of antibiotics ¥,

¥ Commenaalizm

(21  Parasitizan

(3)  Mutualism

ié)/ Amensalism

All of the following are included 1n ‘Ex-situ
(11 Wildlife & fari pagke” -
(2)  Dutanical garde '

cred grave

(4) Seed banky

Match the items given in Column 1 with those in

Column 11 nd select the correct eption given
below !
Cedesonrer Column 11

UV-B rudiation
D Brestation

a,  Eutrophigation y.
b, Sanitary landfil” i
c.  Snow blindnes iti

Nutrient
enriclunent
d. Jhum cultivation 1v Wast disposal
a b c d
i Wi v
%ii iv I ii
(3 iij iv i
(€} i v 1

149, In 'ng population fa country,
{ pre-repreductive individuals are more than

the reproductive individuals,

repeoductive and pre-reproductive
individuals are equal in number,

(2)

{3} reproductive individualz are less than tho
p -reproductive ind ividuals.
(4) pre-reproductive individuats are Jess than
the reproduclive individualz.

‘" TTRE N Qv e & FeR um A R A & 2 150, Which part nf?pnppy plant iz used to obtain the
M— " -

(1 :l Flowers
(2) Rono
T Latex
(4) Teaves



151. @nbn <t 0 @R 5 fu g AR 2 wife
Fit & 2

(1) hCG, hPL, TeN, TAfeA
(2) hCG, hPL, 9A, TR
(3) hCG, hPL, R, faAffes, siftedfi
(4)  hCG, WI=LTTR, TR, TEIRTIHES
162, mifntas FEeR’
(1) TTNRR # UK T8 W Ha5g SO R U NE
F T = et R
(@ uwsIUDR)
(3) T A TRray | oamm w1 werd k ovd
v F O R |
i) % wadyn mifmes # )
153, #aael) ym 61 yerawn Tt 3= omm wd 2 7
(1) WREE Ua HEIHE]
(%) TTTTER UG TARAH
(3) FTEET T TERIIRR
(4) W US FaEEH

154, WAITERA T WP (Faidees) & T =Rk ?

(1) EwEr § e e K, wefs gEITEe A
werp o ¥ |

2y IR § ol W Wt el |
THaE AawS & qfem § wm war R
T JEEgE 0 LI =

3) AU A S W ¥, e yEeEa A
THOY T 2 |

() TEUeR § GRR] R %, aufs weEnp A

Tt W Wil wfhesit @ e
femaii 61 aftwm A W Mk

161. Hormones secreted by the placenta to maintain
pregnancy age
(1}  hCG, hPL, progestogens, perin
MG. hI'L, progestogens, estrogens
{31 hCG, hPL, estrogens, relaxin, mc%n

(4)  hOCG, progestogens, estrogens,

glucooor@ds
@ The contraceptive SAHELL

> blocks estrogen receptors in the uterus,
preventing eggs from getting implanted.
(2) isanIUD.

Mcreas-r:ﬂ the concentration ofEstroged and

prevents avulation in females.
from

4) tiv;.
\_f)vk/m::t('derm are] mesoderin

18 4 post-coital contracep
A0
A/
The amnion of muammalian embryo ix derived

(2} meroderm and trophoblast
(3) endoderm and mesoderm
{(4) cctoderm and endoderm
164. The difference between spermiogenesis and
————

spermiation is_
(1} In spermicgenesis spermatids are formed,
white in spermiation spermatozoz are
{ormed.

In spermiogenesis sperinatozoa from sertali
cells are releagsed inte the cavity of
seminiferous tubules, while in spermiation
spermatozoa are formod.

2

(3) In spermiogenesis spermatozoa are formed,
while in spermiation spermalids

formed.

(4~ 1n spermingenests spermatozoa are formed,
while in sgpermiation spermatczea are
released from sertoli cells into the cavity of
seminiferous tubules,

are




155, Fiftan 6 & $F-a fwey wum o o arvefifi| 185. Which of the following options  correctly
# wwgi # Zm W 3T =9 B i R

157.

1Y)
(2)

(3)

(4)

% 16 AW 0 e )
st A fov m fame 0 3 37

wE 52R 4 wfvwn; @wiaw o e

At R T ¥ whiem, Wed maE #
st

vauA) wan § & vaEeE § e

) & faems &
COARECE

A0 :

‘FIWI =
Fraeeft saR i unld sifem
F 9=
b, FEmerft v ii. ofie fEw W@ popdy
W’ﬁ n A
faca & f
a b c [
Y i i ii o
12) ii ii
(3] iti i
4 u i i

A 1A A e e 16w A e

i 9= Bn om G 4 @ &f TEe o= 9w

represents the lung conditions in_asthma and

emphysema, respectively ©

(1 ammation of bronchicles; Decrensod
respiratory surface

(2) Increased iratory  surface;

Inflammation of bronchicles

Increased number nchioles; Increased
respiratory surface
Deereased ratory
Inflammation o nchinles

(3}

{4) surface;

156. Malch the itema given in Column I with those in
Column 11 and select the correct optien given
below

Colutrn 1
a. Tricuspidvalue j¢

(olumn 11

Butween left atrium
and left ventricle

b. Bicuspid valvé i,

Between right
vanlnele and
4 pulmonary artery

c.  Semilunar valve iii\ Between nght
atrium and right
ventricle

b ¢
(1) i di
(2 i, i iii
)/l iii
(4 1 i iti

157. Match the items given in Column [ with those in
Column IT and select the correct option given

i .
&y oyl

a. S99 ARG i.  2500- 3000 fir.#.

b, s@rEmagd@d i 1100 - 1200 R,
AT

¢ frwm mlim iii. 500 - 650 fa.&.
A

d safe s jv. 1000 - 1100 fir.#h,
a b c d

| N 1 i1 i iv
12) 1% i i
3y il i iv 1

) iv bii ii

below :
Column |

a. Tidal velung

b Inspimtorym
volume

c.
volume

d. Residual val ¢
a b ¢

Wi

2 i v )’

Column 11
£ 2500 — 3000 mL
. - 1100 - 1200 mL

piratory Resersg’ “hi. 500 550 mL

i v
-
i1

. 1000 - 1100 mlL
d

i



[ —

168 T | ¥ A WG T v I A TR g fer dfag

159.

AR MR v e & }AN? AEv v we
e -

&4 VLS
s et i S8 ¢ 9 |
g Bt

i T HRkn wE ®
fawg

il T3 % wWrEm

<. {iﬁﬂ‘mﬂ

(s Fegené)

d IO EERm  iv. TFE S & oA
a b < d

(1) e il iv i

@ o @i by

& i i i v

@ iv i ii iii

T [ #Qd o w1 B 1 N G a Fram PR
an M e m Rerkt ¥ 2 TE e M oIwT
e

Y oI
(&) (IRTH9 TF FT ¥FT)
a AMTWBER | A
b. THEM i EaEifE
oo TR Hmm i W
d. TP s, Fadd efirn
v: whtw @afon Kam
a b ¢ d
() v v i i
(21 v iv i {5
(3) v i i 53
4 v iv i jis

158,

©

R’e‘ %\
tarkan 1 F )
= &

a

Match thbe itema givel: lo Columao I with thuee i
Colomn 11 eod sclect the correct option given
below!

Column 4 Column I

Accomuliution of uzic
acld 1a joints

a. Gl}'cm Waria i g
/

5
b Cout” M,

Mboas of crystallised
salts within the kidney

e.  Reoalsalcoli gi. Inflammation in
g lemeruli
d. Gleme:zolar iw. Presence of glucose ia
nephritis urne
a b c d
(1) il " 1% i
(2) 1 il 1 iv
=) i i:i iv
{ v _|__ i iii

Match the tems givea in Column I with thoee in
Column I and sclect the cosvect oprion givea
below ¢

Column Coluwnwn I
Function) Pare of Bxcretory
Systein)
a. Ultmﬁltram'u{l A7 Henle's jeop
b. Concentration® i, Uyrater
of urine 'E'.
¢  Transport of s fii; Urinary bladdec
uringe
d. Storageofurif _ Iv. Maipighian
eorpuscle
Proxmd
coovoluted tubule
d
i

1 i i

4)

4
%3

s




160 1& Wwus Wedan (REK Y fciiea §
A7 gz 7 @/t ?
Q) W I
(21 AFT WEE =1 B
(9 T AT
(4) Wiz gder—

161, ¥ § Iwd w1 7T R 2

(1) TCA 75 % Hien THOH & s # B
LiCE )
12) A RMfRR W aw B 3 ¥ 7T 58 TSI
vwaaﬁ#&zaﬁ%:ﬁs{blm)mm%l
€)) R e R Han B
4) . T TEhHs B ax
&) { afa Bar 21
162. Pan F Rz gowo: Fer A€y
(L) R @ falde
(2) fFeast @ SER
(3) TNA RNA .
(4) W#d OFA1IEM @ RER
163. =kl 3§ 2 AR A TiMs ¥= TR SEfham
B0bem 37
1)) TN, Ramt®, T
(3) WA TFERE, EASA

(31 mr %m. ﬁﬂaﬁ]
@) e, R, Rwed

Wﬂaﬂmmm
¢

164

(4)  oveR OIS

& 181 Whbich of the follow1ag events deea sio¢ eccur in

rough endoP!asmic reticulum ¥
(‘U‘_ Peetrin folding

(@)
RN

Cleavege of signal pepylde
Prole n glvcoaylatien
Phosp ho lip id eyntheeis

161. Whieh of theae statements 8 incorrect ?

() Epsymec o TCA qtleyprosent i

mitochondnal matrix.
Glycelvsig operales as lung as it is supplied
wilh NAD that can pick up hydragen aloms.
(3) Glveolysiz occurs ia cytosql
"())/O)gldati\e phassborylotion takee placn im
outermitochendr 3l membrane Mq‘\'ﬁy.

(2

162 Nizd hodies 01c meanly com®ozed of

Proteins and lipids
Nudleic acids and SER
DNA and RNA

b'res ribosomes and RER

(2)
(3)
(4

163. Which of the fullowing terms describe bumoan

dentition?

—’/ -

(1) 'Theeodont, DiPhTed( 1t Honredoat

(@1 Pleuredont. Mooaphyodoal. Homodont
Thecodont. Diph) edont. Heterodont

(9 Plevtedont, Diphyodoat Helerodont

1ed. Select the geeaom®d match :

(1) Tuwmpbrush  ~ Diple bi\ alents
chremosomes :
(2) Subgaetacentric - lrsw chronososmes
Jhmmesdmes .
] cgomea «Jax diromesomes
‘y/g:‘lytenc — @ocytes of amPbjbisna
Chromosomes

{65, ¥0 | e & mRNA @ @9 TR SHWY 1G5, Many ribasomia maY asteclate with a giogle

sRA< s =1 g g 3 TR AN O
sFarRd-F =137 £ 7

11} MR

(2) rarfa

(3) aEehy fyos

{4y 3I=TM

7oRNA o forrs mult p e co¥ies of 2 helvpeptide
sinsu toncously Such stzlngs of ribogomes are
tk‘lmai [- )

Palysome
Plastidoine
Pulyhcdea. bed es
Nocleoso 1ne

(2)
(3t
{4)



-
166. TN & i & I3@N g &t frafafy R wen | iAccording to Hugo de Vries, the mechanism of

B’ ?

(1) =g IaRad

(2) i g T&9 TRad (qeorrEd fafirar)
(3) WedsH

(4) @Y Iafadq

167. @@ [ § & 7 wel &1 W 11 A 1l A fem Fifae
3R 4R fer T fawedt § A TH fAFem w1 I
@lﬁm :
@ I &y I]

a. VUSSR TEEN 1. THIVA 3d:wR &I faue

b. & yEEn n. A gEE

c. “RqEld iii. frafive wrawen
a b c

(1) iid 1 i

(2 ii iii

3) i iii ii

(4) iii n

168. 3§ ¥ AT AT F1 9T T 2 ?

(1) Y=

(2) TEW

(3) GTEARHS JH

(4) 3IATH

169. T& 1 % FfET v 1 9 AGGTATCGCAT R |
F G AaRad mRNA 1 9fiq 1 &1 81 ?
(1) AGGUAUCGCAU - NP
(2) ACCUAUGCGAU {o
(3) UGGTUTCGCAT
(4) UCCAUAGCGUA

170. TF T % UF X TUgF & X-HA A1 2 | Ag T
ford dsmrq @m 2
(1)  Faa gfai d
(2) Fad Na-qfe@ /Ad-afa §

(3) had A A
4) T g A

— ] . .
(D
(2)

3

Multiple step mutations
Phenotypic variations
Saltation

Minor mutations
167. Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column 11
Proliferative Phase i. Breakdown of
" endometrial
lining
b.  Secretory Phasg #. Follicular Phase
c.  Menstruation sii. Luteal Phase
a b c
@8] m i 1
i wm
3) i iii n
(4) iii ii

168. All of the following are part of an operon except
(1) an operator”
an enhancer
(3)
4)

169. AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding

sequence of the transcribed mRNA ?
&\MGUAUCGCAU
(2) ACCUAUGCGAU

(3) UGGTUQFCGCAT
(4) UCCAUAGCGUA

structural genes

a promoter

. A woman has an X-linked condition on one of her

X chromosomes This
inherited by

(1
(2)
(3) Only sons

\(}/got:h sons and daughters

chromosome can be

Only daughters
Only grandchildren



171. FCfERM 4 SR €3 Fifrs A9 FXA 171, Which of the following o trie colls indirect]v
L 3 O e ) £ 7

11
12)
(3
14}

T FIfT
Fon (rilez ) Wi
72 faerd

172. @ 1 8 A n§ = wew 1 A R B e fifm
N AW fu M Gwet § @ At fawe 1 oGEa

173,

174.

ﬁﬁm :
&y | &= i

a, e i, goeEoh u’gm

b TR LRt

. ii, W afafy
n b c

(1l i

(2 ifi i

{3) il i

4) i

frafcian 3 9 suEwfEs @ e | e a7

L

(1) fgw

(21 wgfam

3y falewmmm

(4) AR

Fa| 9 G597 § Fiovman sgeapl § wiks 71

(L

(2)
(3)
(4)

Fiifa 3 e BT & wbew =me T aEm
it 721 T ¥ el & fe g

trA o A TR i « wem o R
wAER vANYT B Fuet 3 fEanfa |
uditfes # ¥ 3 R\ M % v amiy
foabon 1 vt R

help in er thropoiesi 7

11 hief cells
(2] Gublet celiz

(3 Mucouscells

Ma’riem cells

172. Match the items given in Codumn | with those in
Columa I1 and select the corvect option given

b low:
Columa Il

Fihrinnge i Osmetic balance

b. Globuli . Bleod clolting

c.  Albumin ni.  Defirnce mechanism
) b

(1 i il

(21 in ii

@3 1 ii iii
i
178, Which «of the following is an occupational
respiratory dizorder ?
(11 Anthracia
(2)  Botulism

)‘;»/s{hmi

(4) Emphysema

174. Calaum is important in  keletal muscle
contragtion-b auss it

Y~ binds to troponin to remove the masking of
ctive mites on setin for myusin,

(2] detaches the myo: in head from the actin
filament.

13} nctivat s the myosin ATP by binding ta
iL.

14) prevents Lhe formotion of bonds between
Lthe myosin cross Qr)zgﬂs and the actin
filawment.



175, SIF6 TR & T AN B TEEIn Do H 3
o 73 § %Y vF frad g stheefer £

(1 st
2) wdra
13) ¥t
(4) Pt
176, fafuzy o= wft SR @ e v fom £ 7
(1 Am % o s omm . B
(2) % forr Fa =33 & fan gy w1 v =
{3) T WA TR F FEER & e egaeie
49 FHRTER  Fgw g §
177. frefefgn A A8 g w STee N TF=E1 9=
Siwe § w0 8 7
i) M g ws w fg F IR A AT HwY
12) T T ST=0 AfEn sin va
3 J=6 {F F1 Jviafa
i4) Ew 6 wirafa
178, FrA&afen 4 @ FR-m v gwardt 7 R 2
i1y dwg
(2} 39
(8) #*¥R
EYIN g s

179. Frrffian F=pait & & SR =g maim 73 6 2
() e

(2) WY
(3 =fese
(1) =wiE

1R0. F=fafiEa 1 & ¥R fT T § 15 IARE

9 8 A £
1) TERYEE
(2)  mrErREAim
3y T

(4) TEtmER

175, Identify the vertcbrate group of animals
characterized by crop and gizzard in its digestive

ysen, —

(1)  Amphibia

27 A 'n:'hss

(3) Reptilia

4)  Osteichthyes

176, Cilistes differ from all other protezoans in

(1) using flag Wa for Seéwotion
{2)  using pseudupodVyler capturing prey
(3) having

£0 ntmqj# vaciole fer remmving
pycess water
‘JM/haw'ng twe Ly pes af nucles

177. Which of the following features is used to identify

4 male cockreach frony  fernate cockroach ?

111  Presence of o bost shaped stermum on the
" ubdominal segment

{21  Forewings with darker tegnnn

Mﬁﬁence of caudnd -tyles

14) Presence of wnal cernci

178, Which one
homeotherm ?

of these anlmls is mot @

M) Macropus

21 Camelus
))/C’;cfmr.

(4)  Psittaculn

179. Which of the following animals doeg nof undergo

metamaorphasjs T .
] -D‘_T Eunrthworm \‘«"J“@“

12} Moth_,
(3} Tunicata-
(4} Starfish

180, Which of the fullowing organiams ace known as
chief producers in the oceans ?

(1} Dinoflagellates
(2} Cransbactena

\)/Diatamu

uglenoids



